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& |l os | e | (& lwel % | & | & | % | % | a6
v Ak 10,000 2,502 2,134 636 334 456 424 1,402 365 1,163 584 9,601
R 18 Y 100.5  101.1 99.9 103.3 99.1 100.4 101.9 100.0 100.7 99.0 100.5 100.2
19 100.5 101.4 99.7  104.7 97.2 101.5 103.3 100.0 101.4 97.2 101.4  100.2
20 102.0 104.2 100.0 111.2 95.3 103.5 102.6 102.0 102.7 97.3 101.6 101.8
21 100.5 103.8 99.8 108.3 93.1 100.8 101.7 96.5 104.5 94.8 101.4  100.4
22 99.9 103.5 100.3 108.8 89.5 99.8  100.8 96.9 94.1 93.6 102.6 99.6

8
Rk 22 1 99.7 103.0 99.9 106.9 90.1 98.4 101.4 96.3  104.9 92.3  101.1 99.5
2 99.6 102.9 99.7 107.6 90.4 97.4 101.1 96.6  104.9 92.2  100.8 99.5
3 99.6  102.7 99.6  108.0 90.3 97.4 101.0 96.9 104.9 92.4 101.1 99.5
4 99.8 103.6 100.1  107.8 90.5 102.5 1014 97.1 90.5 93.3  100.9 99.4
5 100.0 103.5 100.7 108.8 90.0 102.7 100.8 98.0 90.5 93.0 100.9 99.7
5 6 99.9 103.1 100.5 108.9 89.8 101.8 100.8 97.5 90.5 93.9 101.0 99.7
H 7 99.7 103.0 100.8 109.2 88.9 98.6  100.8 97.1 90.5 94.1  100.9 99.5
8 100.1  104.0 100.6  109.7 88.9 98.6 100.4 97.3 90.5 95.6  100.9 99.7
9 100.2  104.5 100.6 109.8 88.9 100.6 100.5 96.6 90.5 94.6  100.9 99.6
10 100.6  104.9 100.5 109.8 89.1 100.2  100.4 96.5 90.5 94.6 107.6 99.9
11 100.1  103.5 100.4 109.3 88.8 100.0  100.6 96.4 90.5 93.7 107.7 99.6
12 99.9 102.8 100.3 109.3 88.0 99.9 100.4 96.6 90.5 93.7 107.8 99.6
SRR 19 4 0.0 0.3 -0.2 1.4 -1.9 1.1 1.4 0.0 0.7 -1.8 0.9 0.0
% 20 1.5 2.8 0.3 6.2 2.0 2.0 -0.7 2.0 1.3 0.1 0.2 1.6
21 -1.5 -0.4 -0.2 -2.7 2.3 2.6 -0.9 5.4 1.8 2.6 -0.2 -1.4
Al 22 -0.5 -0.3 0.5 0.5 -3.9 -1.0 -0.8 0.5 -9.9 -1.2 1.2 -0.8
& Rk 22 1 -0.1 0.7 0.0 0.4 -0.6 -3.7 0.5 -0.2 0.0 -1.4 0.2 -0.3
2 -0.1 -0.1 -0.2 0.7 0.4 -1.0 -0.3 0.3 0.0 -0.1 -0.3 0.0
A 3 0.1 -0.2 -0.1 0.3 -0.1 0.0 -0.1 0.3 0.0 0.2 0.3 0.0
4 0.1 0.8 0.5 -0.1 0.2 5.2 0.4 0.1 -13.7 1.0 -0.2 -0.1
= 5 0.2 -0.1 0.7 0.9 -0.5 0.2 -0.6 0.9 0.0 -0.3 0.0 0.3
- 6 -0.1 -0.3 -0.2 0.1 -0.2 -0.9 0.0 -0.5 0.0 0.9 0.0 0.0
7+ 7 -0.2 -0.2 0.3 0.3 -1.1 -3.1 0.0 -0.4 0.0 0.2 -0.1 -0.2
4y 8 0.5 1.0 -0.2 0.4 0.0 -0.1 -0.3 0.2 0.0 1.6 0.0 0.1
9 0.0 0.5 0.0 0.1 0.1 2.1 0.1 -0.7 0.0 -1.0 0.0 -0.1
% 10 0.4 0.4 -0.2 -0.1 0.2 -0.4 -0.1 -0.1 0.0 0.0 6.7 0.3
11 -0.5 -1.3 0.0 -0.4 -0.3 -0.2 0.2 -0.1 0.0 -1.0 0.1 -0.3
12 -0.2 -0.7 -0.2 0.0 -0.9 -0.2 -0.2 0.2 0.0 0.0 0.1 0.0
X Rk 22 41 -1.4 -2.9 -0.3 -5.0 =5.7 -0.6 -0.7 1.1 1.7 2.1 -0.3 -1.3
i 2 -1.1 2.2 -0.3 —4.4 -4.8 1.7 -0.7 1.1 1.4 -1.6 -0.9 -1.0
i 3 -1.1 -1.7 -0.3 -3.6 4.2 -3.3 -0.6 0.9 1.4 2.2 -0.4 -1.3
_ 4 -1.0 -0.3 0.4 -3.5 4.2 0.2 -0.4 1.0 -13.7 -1.9 -0.4 -1.3
7] 5 -1.0 -1.0 0.5 1.1 -4.0 -0.9 -0.9 1.7 -13.7 -2.8 -0.4 -1.1
H 6 -0.5 -0.2 1.0 1.9 -3.2 -1.4 -0.9 0.5 -13.7 -1.5 -0.4 -0.8
T+ 7 -0.3 0.0 1.4 2.9 —4.4 0.2 -1.1 0.1 -13.7 -0.8 -0.8 -0.7
- 8 -0.4 -0.7 1.2 3.7 -3.5 1.8 -1.3 0.2 -13.7 -0.8 -0.2 -0.4
7 9 -0.3 0.6 0.8 4.2 -3.5 -0.9 -1.1 -0.4 -13.7 -0.6 -0.7 -0.7
R 10 0.4 2.4 0.6 3.9 -3.1 -2.7 -1.0 -0.4 -13.7 -0.4 5.8 -0.4
11 0.4 2.0 0.5 3.2 -2.9 -3.3 -0.9 -0.2  -13.7 -0.1 6.5 -0.4
% 12 0.1 0.5 0.4 2.7 -2.9 2.3 -0.5 0.1 -13.7 0.1 6.9 -0.2
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v Ak 10,000 2,415 2,082 664 306 465 410 1,473 418 1,188 579 9,629
PRk 18 EH) 100.3  101.0  100.2  103.9 96.7 99.4 99.4 100.2 100.6 99.0 100.4  100.0
19 100.1  101.0 99.0 105.1 96.1 100.5 101.4 99.8  101.2 97.4 101.2  100.0
20 101.8  104.0 99.1 1123 95.1 102.9 100.9 101.8 102.2 97.8 101.7 101.6
21 100.2  103.3 100.2  108.3 92.6 100.4 101.0 95.7  104.0 94.7 101.6  100.3
22 100.5 103.2 104.9 108.6 89.0 99.5  100.7 96.3 92.0 93.5 102.7  100.5

i
Rk 22 1 99.3 102.9 100.3 106.6 90.1 96.4 100.9 95.4  104.4 91.5  100.9 99.4
2 99.5 103.1 100.3 107.3 90.0 96.8 101.0 95.9 104.4 91.2  100.8 99.5
3 99.3 101.8 100.4 107.8 89.7 96.9  100.9 96.1 104.4 91.7 101.3 99.5
4 99.8 102.6 102.9 107.9 89.8 102.5 101.2 96.5 87.8 92.8 101.1 99.8
5 100.8 103.3 106.3  108.9 89.5 102.6  100.7 97.6 87.8 92.6 101.1  100.7
5 6 100.6  102.4 106.1 108.6 88.9 101.5  100.9 97.0 87.8 94.1 101.0  100.7
# 7 100.7 102.6  107.3  109.2 88.7 97.8  100.4 96.6 87.8 94.2  101.1  100.7
8 101.2  103.6 107.2 109.8 88.6 97.7 100.2 96.7 87.8 96.0 101.1  101.0
9 101.0 103.2 107.2 109.8 88.5 101.2 100.4 96.0 87.8 95.0 101.5 101.0
10 101.7  105.1  107.2  109.6 88.5 100.3  100.5 95.8 87.8 94.8 107.4 101.2
11 101.2  103.6  107.2  109.1 88.4 100.0  100.9 95.7 87.8 93.7 107.8 100.9
12 101.2  103.6  106.9  109.1 87.6 100.6  100.6 95.7 87.8 93.9 107.7 101.0
PRk 19 ) -0.2 0.0 -1.2 1.2 -0.6 1.1 2.0 -0.4 0.6 -1.6 0.8 0.0
% 20 1.7 3.0 0.1 6.9 -1.0 2.4 -0.5 2.0 1.0 0.4 0.5 1.6
21 -1.6 -0.7 1.1 -3.6 -2.6 2.4 0.1 -6.0 1.8 -3.2 -0.1 -1.3
Al 22 0.3 -0.1 4.7 0.3 -3.9 -0.9 -0.3 0.6 -11.5 -1.3 1.1 0.2
& R 22 1 -0.2 1.3 0.0 0.7 -1.4 -5.8 0.3 -0.3 0.0 -1.9 0.0 -0.4
2 0.2 0.2 0.0 0.7 -0.1 0.4 0.1 0.6 0.0 -0.4 -0.1 0.2
A 3 -0.2 -1.3 0.0 0.5 -0.3 0.1 0.0 0.2 0.0 0.5 0.5 0.0
4 0.5 0.8 2.6 0.1 0.1 5.8 0.3 0.4 -15.9 1.2 -0.2 0.2
= 5 1.0 0.7 3.2 1.0 -0.4 0.0 -0.5 1.1 0.0 -0.2 0.0 0.9
- 6 -0.2 -0.8 -0.1 -0.2 -0.6 -1.1 0.2 -0.6 0.0 1.6 -0.1 0.1
7* 7 0.1 0.1 1.1 0.5 -0.2 -3.6 -0.5 -0.5 0.0 0.1 0.1 0.0
B 8 0.5 1.0 -0.1 0.6 -0.1 -0.1 -0.2 0.1 0.0 1.9 0.0 0.3
9 -0.1 -0.4 0.0 0.0 -0.1 3.5 0.2 -0.7 0.0 -1.0 0.4 0.0
% 10 0.7 1.8 0.0 -0.2 -0.1 -0.9 0.1 -0.2 0.0 -0.3 5.8 0.2
11 -0.5 -1.5 0.0 -0.5 -0.1 -0.3 0.4 -0.1 0.0 -1.2 0.4 -0.2
12 0.0 0.0 -0.2 0.0 -0.9 0.6 -0.3 0.0 0.0 0.3 -0.1 0.0
X PRk 22 41 -1.2 -2.3 0.1 -6.3 4.8 0.7 0.1 1.1 1.9 —2.2 -0.4 -0.7
Al 2 -0.7 -1.5 0.4 -5.6 4.1 3.3 0.4 1.3 1.2 -2.0 -0.8 -0.5
i 3 -1.2 =2.5 0.5 4.4 -3.6 3.4 0.3 0.9 1.2 -2.6 -0.3 -1.0
_ 4 -0.3 -0.3 4.6 -3.3 -3.8 -0.3 0.1 1.3 -15.9 -2.6 -0.7 -0.4
7 5 0.0 -0.1 5.2 0.9 -3.9 -1.7 -0.4 2.1  -15.9 =3.5 -0.6 -0.1
H 6 0.1 0.1 5.1 0.8 =3.7 -2.3 -0.4 0.8 -15.9 -1.6 -0.8 -0.1
T+ 7 0.9 0.6 6.9 2.9 4.4 0.5 -0.9 0.4 -15.9 -0.8 -1.1 0.5
- 8 0.7 -0.5 7.0 3.8 -3.8 2.7 -1.1 0.4 -15.9 -0.7 -0.4 0.9
7t 9 0.7 -0.2 7.0 5.0 =3.5 -1.2 -0.8 -0.5 -15.9 -0.4 -0.5 0.7
= 10 1.4 1.9 6.7 4.8 =3.7 -3.3 -0.2 -0.6  -15.9 -0.1 5.3 0.9
11 1.6 1.9 6.7 3.8 -3.3 =3.5 0.0 -0.4  -15.9 0.4 6.6 1.0
% 12 1.7 2.0 6.6 3.1 4.1 -1.7 0.0 0.0 -15.9 0.6 6.7 1.2

_25_



H3E Koy EEEE (HAZ)

SR 1 74HE=100
7 S - E——E
5 A B E | R (55 |AR| & | & | & | & | # |

Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& g | m | ow Jw Iwel w | & | u | % | # |66
v Ak 10,000 2,517 2,272 622 313 456 420 1,329 307 1,173 591 9,590
PRk 18 EH) 100.3  100.9 99.2 102.4 100.9 99.3 104.8 100.0 100.8 99.0 100.6  100.1
19 100.2  101.5 98.8 102.8 96.0 100.3 106.2 100.0 101.5 97.2  100.4 100.0
20 102.0 104.6  100.3  108.0 95.8 102.5 105.4 101.7 102.7 97.1 101.0 101.9
21 100.3  105.1 99.7 104.3 90.8 98.6 104.2 96.7  104.2 94.6 99.5  100.5
22 99.6 104.8 99.6 104.4 85.6 97.3 102.5 97.1 92.2 93.4 101.3 99.5

i
Rk 22 1 99.6 104.3 99.9 102.8 86.9 98.7 103.1 96.4  104.5 92.1 99.5 99.7
2 99.3 103.7 99.7 103.6 87.3 93.5 102.8 96.8  104.5 92.3 99.4 99.4
3 99.5 104.4 99.7 103.8 85.3 94.2  102.6 97.0 104.5 92.5 100.0 99.6
4 99.6  105.3 99.7 103.5 86.5 98.6 102.9 97.3 88.1 93.2 99.3 99.4
5 99.6  105.0 99.6 104.2 86.7 99.0 102.2 98.0 88.1 93.0 99.6 99.5
5 6 99.6  105.0 99.5 104.4 86.4 98.4 102.5 97.5 88.1 93.6 99.8 99.5
# 7 99.3 104.6 99.6 104.6 84.8 95.3 102.5 97.2 88.1 93.9 99.5 99.4
8 99.7 105.5 99.4 105.0 84.3 95.3 101.9 97.5 88.1 95.4 99.4 99.4
9 99.8 105.7 99.6 105.2 84.7 98.9 102.1 97.0 88.1 94.3 99.6 99.4
10 100.2  105.9 99.6  105.8 85.4 98.3 102.2 96.8 88.1 94.2  105.9 99.9
11 99.7  104.4 99.7 104.6 85.0 98.4 102.2 96.6 88.1 93.3 106.0 99.4
12 99.5 103.3 99.7  104.7 83.9 99.0 102.5 97.0 88.1 93.4  107.2 99.5
PRk 19 ) -0.1 0.6 -0.4 0.4 4.9 1.0 1.3 0.0 0.7 -1.8 -0.2 -0.1
% 20 1.8 3.1 1.5 5.1 -0.2 2.2 -0.8 1.7 1.2 -0.1 0.6 1.9
21 -1.6 0.4 -0.6 3.4 =5.2 -3.8 -1.1 4.9 1.4 -2.6 -1.4 -1.3
Al 22 -0.7 -0.3 -0.1 0.1 =5.7 -1.3 -1.7 0.4 -11.5 -1.2 1.7 -1.0
& R 22 1 0.1 1.4 -0.2 0.3 0.3 -1.9 0.0 -0.2 0.0 -1.4 0.5 -0.4
2 -0.3 -0.5 -0.2 0.8 0.4 -5.3 -0.3 0.4 0.0 0.2 -0.1 -0.3
A 3 0.2 0.7 0.0 0.2 -2.3 0.7 -0.1 0.3 0.0 0.2 0.6 0.1
4 0.0 0.9 0.0 -0.4 1.4 4.7 0.3 0.2 -15.7 0.8 -0.7 -0.2
= 5 0.0 -0.3 -0.1 0.8 0.2 0.4 -0.7 0.8 0.0 -0.3 0.3 0.1
- 6 0.0 0.0 -0.1 0.1 -0.4 -0.6 0.3 -0.5 0.0 0.7 0.2 0.0
7* 7 -0.3 -0.4 0.2 0.2 -1.9 -3.1 0.0 -0.3 0.0 0.3 -0.2 -0.1
B 8 0.4 0.9 -0.2 0.4 -0.6 0.1 -0.6 0.3 0.0 1.6 -0.1 0.0
9 0.1 0.2 0.2 0.1 0.5 3.7 0.3 -0.5 0.0 -1.2 0.2 0.0
% 10 0.4 0.1 0.0 0.6 0.8 -0.6 0.0 -0.2 0.0 -0.1 6.3 0.4
11 -0.5 -1.4 0.1 -1.1 -0.5 0.1 0.0 -0.2 0.0 -1.0 0.1 -0.4
12 -0.1 -1.0 0.0 0.1 -1.3 0.6 0.3 0.3 0.0 0.1 1.1 0.1
X PRk 22 41 -1.8 2.4 -0.9 -5.9 -8.9 -1.2 2.4 0.5 1.5 —2.5 -1.1 -1.7
Al 2 -1.8 =2.5 -1.0 -5.0 =7.0 2.4 2.1 0.8 1.1 -1.6 -1.4 -1.7
i 3 -1.3 -0.6 -1.0 4.2 -8.8 =5.2 -1.5 0.4 1.1 —2.2 -0.3 -1.7
_ 4 -1.1 0.3 -0.8 =3.7 =5.2 0.2 -1.2 0.9 -15.7 -1.5 0.2 -1.4
7 5 -1.3 -1.4 -0.6 1.4 -3.9 -1.8 -2.0 1.3 -15.7 2.3 0.5 -1.4
H 6 -0.4 -0.3 1.7 1.8 4.1 2.1 -1.6 0.4 -15.7 -1.3 0.7 -0.7
T+ 7 -0.5 -0.5 1.7 2.2 -6.3 -1.3 -1.8 0.1 -15.7 -0.7 0.0 -0.6
- 8 -0.3 -0.9 1.7 3.2 -5.3 0.5 -1.7 0.4 -15.7 -0.7 0.7 -0.6
7t 9 -0.3 0.7 -0.2 3.6 -5.6 2.9 -1.6 0.0 -15.7 -0.6 0.2 -0.7
= 10 0.3 2.2 -0.4 3.9 4.8 0.0 -1.8 -0.3  -15.7 -0.4 6.2 -0.3
11 0.1 1.8 -0.5 2.6 4.6 -3.2 -2.0 0.0 -15.7 -0.3 7.0 -0.8
% 12 0.0 0.4 -0.4 2.1 -3.2 -1.7 -0.6 0.4 -15.7 0.0 8.3 -0.6

_26_



H3k Koy EEEE (L)

SRR 1 74E=100

7 — - E—
IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | (& lwel % | & | & | % | & | a6
v Ak 10,000 2,548 2,154 601 354 476 424 1,302 421 1,137 582 9,606
R 18 Y 100.6  101.7 100.2 102.5 98.6 101.8 101.6 99.9 100.5 99.0 100.2  100.2
19 100.7 102.1  100.3 103.1 95.2 103.3 103.0 100.2 101.1 97.2 101.0  100.2
20 101.8  104.8 99.6  109.3 91.2 104.2 102.2 102.1 102.5 97.3 100.8 101.3
21 100.7 104.6  100.0 105.2 92.1 102.3 101.5 97.0 104.4 95.4 101.3  100.1
22 99.8 103.2 99.6 105.4 90.0 100.4 100.6 97.6 97.8 94.4 102.1 99.2

8
Rk 22 1 99.6 102.6  100.0 102.9 90.4 98.7 101.0 97.3  104.8 93.3 100.3 99.0
2 99.4 102.4 99.8 103.8 89.9 97.1 100.8 97.3  104.8 93.1 99.6 98.9
3 99.6  102.7 99.8 104.1 90.6 97.6  100.5 97.6  104.8 93.4 100.2 99.1
4 99.8 103.4 99.8 104.6 90.0 103.6 101.2 97.6 95.5 94.2  100.0 99.1
5 99.8  102.7 99.8 105.2 89.5 103.8 101.0 98.5 95.5 93.8 100.6 99.3
5 6 99.8  102.7 99.6 105.9 91.0 103.0  100.9 98.0 95.5 94.6  100.6 99.3
H 7 99.4 102.4 99.5 106.1 88.6 99.8  100.8 97.6 95.5 94.8  100.4 98.9
8 99.9 103.3 99.4 106.6 89.5 100.4 100.4 98.0 95.5 96.2 100.4 99.2
9 100.2  104.6 99.5 106.8 91.4 102.0 100.3 97.2 95.5 95.2  100.1 99.2
10 100.5  104.9 99.2  106.7 91.1 100.1  100.2 97.1 95.5 95.3  107.5 99.5
11 100.0  103.6 99.2  106.1 89.8 99.6  100.2 97.0 95.5 94.4 107.6 99.2
12 99.8  103.3 99.1 106.0 88.2 98.6 99.6 97.4 95.5 94.4 107.4 99.2
SRR 19 4 0.1 0.4 0.1 0.6 -3.4 1.5 1.4 0.3 0.6 -1.8 0.8 0.0
% 20 1.1 2.6 -0.7 6.0 4.2 0.9 -0.8 1.9 1.4 0.1 -0.2 1.1
21 -1.1 -0.2 0.4 -3.8 0.9 -1.9 -0.7 -5.0 1.8 -1.9 0.5 -1.2
Al 22 -0.9 -1.3 -0.4 0.2 2.2 -1.8 -0.9 0.6 6.3 -1.1 0.7 -1.0
& Rk 22 1 -1.4 -4.3 0.1 0.1 2.3 -4.5 0.3 0.1 0.0 -1.3 -0.5 -0.3
2 -0.2 -0.1 -0.1 0.8 -0.5 -1.6 -0.2 0.1 0.0 -0.2 -0.7 -0.1
A 3 0.2 0.3 0.0 0.3 0.8 0.5 -0.2 0.3 0.0 0.3 0.6 0.2
4 0.2 0.6 0.1 0.4 -0.7 6.1 0.7 0.0 -8.9 0.8 -0.1 0.0
= 5 0.0 -0.6 0.0 0.6 -0.6 0.1 -0.3 0.9 0.0 -0.4 0.6 0.1
- 6 0.0 0.0 -0.2 0.6 1.8 -0.7 -0.1 -0.5 0.0 0.8 -0.1 0.0
7+ 7 -0.4 -0.3 -0.1 0.3 -2.7 -3.1 -0.1 -0.4 0.0 0.2 -0.2 -0.4
4y 8 0.5 0.8 -0.2 0.5 1.0 0.5 -0.4 0.3 0.0 1.5 0.0 0.3
9 0.3 1.2 0.1 0.2 2.1 1.6 -0.1 -0.8 0.0 -1.0 -0.3 0.0
% 10 0.4 0.4 -0.2 -0.2 -0.3 -1.9 -0.1 -0.1 0.0 0.1 7.4 0.3
11 -0.6 -1.3 0.0 -0.5 -1.4 -0.5 0.0 0.0 0.0 -0.9 0.0 -0.3
12 -0.2 -0.3 -0.1 0.0 -1.8 -1.0 -0.7 0.4 0.0 0.0 -0.2 0.0
X Rk 22 41 -1.7 4.2 0.2 7.4 -2.9 -1.7 -0.5 1.4 1.9 -1.6 -1.0 -1.5
i 2 -1.2 -3.0 0.5 —6.1 —4.4 0.7 -0.5 1.4 1.5 -1.1 2.0 -1.2
i 3 -1.1 2.2 0.5 -5.8 -1.7 -3.8 -0.9 1.2 1.5 -1.5 -1.1 -1.3
_ 4 -1.4 -1.2 -0.3 -3.7 -5.8 -0.6 -0.9 1.2 -8.9 -1.5 -1.3 -1.5
7] 5 -1.3 -2.0 -0.5 0.8 —4.1 -0.6 -0.5 1.5 -8.9 2.6 -1.0 -1.3
H 6 -0.7 -0.3 -0.7 2.6 -1.7 -0.2 -0.9 0.5 -8.9 -1.4 -0.5 -0.9
T+ 7 -0.9 -0.9 -0.8 3.5 -4.7 0.4 -1.3 -0.2 -8.9 -0.9 -1.0 -1.2
- 8 -1.0 -1.9 -0.8 4.4 2.5 0.6 -1.4 0.2 -8.9 -0.9 -0.4 -0.9
7 9 -0.5 0.2 -0.6 4.8 0.4 -1.4 -1.0 -0.4 -8.9 -0.7 -1.5 -0.8
R 10 0.3 2.3 -0.8 4.6 1.4 -4.3 -0.9 -0.2 -8.9 -0.4 5.7 -0.3
11 0.2 2.1 -0.7 3.7 -0.1 6.2 -0.8 -0.1 -8.9 -0.3 6.3 -0.4
% 12 -1.2 -3.6 -0.8 3.1 -0.3 4.6 -1.1 0.2 -8.9 -0.1 6.5 -0.1
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CORE SN = ti=F - NG T B

SR 1 74HE=100
7 S - E——E
5 A B E | R (55 |AR| & | & | & | & | # |

Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& e | e |ow Jw Iwel w | & | w | % | # |66
v Ak 10,000 2,548 2,154 601 354 476 424 1,302 421 1,137 582 9,606
PRk 18 EH) 101.0 100.4  102.3 102.0 103.5 101.8 102.8 99.7  100.6 99.2  100.3  100.8
19 101.0  100.3  103.7 102.4 102.9 98.5 104.4 99.7 101.2 97.4 101.2  100.8
20 102.5 103.0 103.9 110.8 100.5 98.6 103.7 102.1 102.7 97.2 101.5 102.5
21 101.3  102.0 103.8  114.7 97.2 96.2  102.6 96.8  104.7 95.0 101.5 101.5
22 100.4 101.5 102.9 114.7 92.9 98.7 101.4 97.3 90.8 93.8  102.7 100.2

i
Rk 22 1 100.7 101.0 103.6 113.4 94.3 97.9 102.8 96.6  105.1 92.7 101.1  100.8
2 100.7 101.0 104.0 113.8 96.0 95.9 102.2 96.9  105.1 92.6 100.8 100.8
3 100.6  100.4 104.0 113.6 95.0 96.6  102.0 97.4  105.1 92.8 100.9 100.8
4 100.4 101.6 104.1 113.6 93.6 100.7 101.9 97.5 86.0 93.6  100.5 100.2
5 100.2 101.5 1024 114.2 93.8  101.9 100.9 98.3 86.0 93.2 101.1  100.0
5 6 100.2 101.8 102.4 114.0 92.6  101.1 101.4 97.8 86.0 94.0 101.1  100.1
# 7 99.9 101.4 102.4 1143 91.2 98.5 101.8 97.5 86.0 94.2  101.1 99.9
8 100.3 102.6 102.4 114.5 90.9 97.5 101.1 97.8 86.0 95.6  100.9 99.9
9 100.3  103.3 102.4 114.8 91.0 96.6  101.0 97.0 86.0 94.7  100.9 99.7
10 100.5 102.1 102.4 114.6 92.8 99.2  100.0 96.9 86.0 94.8 108.0  100.2
11 100.4 101.3 102.2 117.7 93.1 99.6  100.9 96.8 86.0 93.9 108.1 100.2
12 100.1  100.2 102.1  117.9 90.6 99.4  100.8 97.1 86.0 93.9 108.2 100.1
PRk 19 ) 0.0 -0.1 1.4 0.4 -0.6 -3.2 1.6 0.0 0.6 -1.8 0.9 0.0
% 20 1.5 2.7 0.2 8.2 -2.3 0.1 -0.7 2.4 1.5 -0.2 0.3 1.7
21 -1.1 -0.9 -0.1 3.5 -3.3 2.4 -1.0 -5.2 1.9 2.3 0.0 -1.0
Al 22 -1.0 -0.5 -0.9 0.0 4.4 2.6 -1.2 0.6 -13.3 -1.2 1.3 -1.3
& R 22 1 0.3 1.2 0.1 0.4 0.3 0.6 0.9 -0.2 0.0 -1.3 -0.1 -0.1
2 0.0 -0.1 0.4 0.3 1.8 -2.0 -0.6 0.3 0.0 -0.1 -0.3 0.0
A 3 -0.1 -0.6 0.0 -0.1 -1.0 0.7 -0.1 0.4 0.0 0.3 0.1 -0.1
4 -0.3 1.2 0.1 0.0 -1.5 4.3 -0.1 0.1 -18.2 0.8 -0.4 -0.5
= 5 -0.2 0.0 -1.6 0.5 0.2 1.1 -0.9 0.9 0.0 -0.4 0.6 -0.2
- 6 0.0 0.3 0.0 -0.2 -1.3 -0.8 0.5 -0.4 0.0 0.8 0.0 0.1
7* 7 -0.3 -0.4 -0.1 0.2 -1.5 -2.6 0.3 -0.3 0.0 0.2 0.0 -0.3
B 8 0.4 1.2 0.0 0.2 -0.4 -1.0 -0.7 0.3 0.0 1.5 -0.2 0.0
9 -0.1 0.7 0.0 0.2 0.2 -0.8 -0.1 -0.8 0.0 -1.0 0.1 -0.3
% 10 0.3 -1.1 0.0 -0.2 2.0 2.7 -1.0 0.0 0.0 0.1 7.0 0.5
11 -0.1 -0.8 -0.2 2.7 0.3 0.4 0.9 -0.1 0.0 -0.9 0.1 0.0
12 -0.3 -1.1 -0.1 0.1 2.7 -0.3 -0.1 0.3 0.0 0.0 0.1 -0.1
X PRk 22 41 -1.2 -3.0 0.1 -5.3 =5.2 3.0 -0.3 1.4 1.9 -2.0 0.0 -1.0
Al 2 -0.6 -1.2 -0.1 -5.0 4.0 7.2 -0.8 0.9 1.6 -1.4 -0.9 -0.6
i 3 -0.8 -1.2 -0.1 -5.1 4.5 2.0 -0.5 0.9 1.6 -2.0 -0.5 -0.9
_ 4 -1.4 -0.9 0.0 =3.7 =5.5 3.2 -0.9 1.1 -18.2 -1.7 -0.5 -1.6
7 5 -1.6 -1.5 -1.3 0.3 -5.3 3.3 -1.6 1.6 -18.2 2.7 -0.2 -1.8
H 6 -1.2 -0.2 -1.4 1.1 4.8 3.1 -1.1 0.7 -18.2 -1.4 -0.4 -1.5
T+ 7 -1.2 -0.4 -1.4 2.0 =5.2 4.5 -0.9 0.1 -18.2 -0.7 -0.6 -1.5
- 8 -1.1 -0.5 -1.4 2.6 4.5 4.8 -1.7 0.2 -18.2 -0.8 -0.3 -1.5
7t 9 -1.3 0.3 -1.3 2.8 4.9 2.7 -1.2 -0.2  -18.2 -0.8 -1.1 -1.9
= 10 -0.5 1.2 -1.0 2.5 -2.6 1.1 2.4 -0.3 -18.2 -0.5 6.0 -1.1
11 -0.3 1.0 -1.3 5.0 -3.1 0.3 -1.6 0.1 ~-18.2 -0.2 6.6 -1.0
% 12 -0.3 0.4 -1.3 4.3 -3.6 2.1 -1.1 0.4 -18.2 0.0 6.9 -0.8

_28_



H3k RoypEEEL (RF)

SRR 1 74E=100

7 — - E—
IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | (& lwel % | & | & | % | & | a6
v Ak 10,000 2,548 2,154 601 354 476 424 1,302 421 1,137 582 9,606
R 18 Y 100.4  101.6 98.7 102.2 100.2 101.0 103.2 99.9 100.6 99.6 100.8 100.1
19 100.7  102.1 99.3 102.8 98.8 101.7 104.5 100.0 101.2 97.8 101.5 100.2
20 102.0  104.5 99.3 108.4 96.3 103.8 104.0 102.1 102.7 98.0 102.4 101.7
21 100.8  104.3 98.6  106.6 93.8 101.7 103.0 97.0 104.6 95.8 103.9  100.4
22 100.2  103.7 98.1 106.2 90.0 104.7 101.7 97.1 99.3 94.7 105.4 99.7

8
Rk 22 1 99.9 102.6 98.6 105.1 91.6 101.4 103.0 96.8  105.0 93.6 104.6 99.8
2 99.9  102.7 98.7  105.7 90.8 101.1  102.6 96.8  105.0 93.4 104.3 99.7
3 99.9 102.7 98.4 106.0 90.9 100.8 102.4 97.4  105.0 93.7 103.8 99.7
4 100.3  104.3 98.3  105.3 90.9 107.4 102.7 97.2 97.5 94.4 103.8 99.7
5 100.4  104.0 98.3 105.9 91.2 107.4 102.4 98.2 97.5 94.1 103.5 99.9
5 6 100.1  103.6 98.2 106.4 90.7 106.1 101.3 97.6 97.5 94.8  103.3 99.7
H 7 99.9 103.5 97.9 106.6 90.0 103.5 101.3 97.1 97.5 95.0 103.2 99.5
8 100.2  104.2 97.8 106.6 89.9 102.7  100.9 97.6 97.5 96.4  102.9 99.5
9 100.3  104.8 97.7 106.8 89.5 106.0 101.0 96.6 97.5 95.5 103.4 99.4
10 100.8  105.0 97.7  107.1 88.7 107.2 101.5 96.5 97.5 95.6 110.6 99.9
11 100.3  103.5 97.7  106.7 88.8 107.5 101.2 96.6 97.5 94.7  110.6 99.7
12 100.0  103.0 97.6  106.7 87.2 105.7  100.5 97.0 97.5 94.7 110.4 99.6
SRR 19 4 0.3 0.5 0.6 0.6 -1.4 0.7 1.3 0.1 0.6 -1.8 0.7 0.1
% 20 1.3 2.4 0.0 5.4 2.5 2.1 -0.5 2.1 1.5 0.2 0.9 1.5
21 -1.2 -0.2 -0.7 -1.7 2.6 2.1 -0.9 -5.0 1.8 2.2 1.4 -1.3
Al 22 -0.6 -0.7 -0.5 -0.3 -4.0 3.0 -1.2 0.1 -5.0 -1.2 1.4 -0.8
& Rk 22 1 0.1 0.6 0.0 0.5 -0.4 -0.7 0.9 0.2 0.0 -1.3 0.6 0.0
2 0.0 0.1 0.2 0.5 -0.9 -0.3 -0.4 0.0 0.0 -0.2 -0.3 -0.1
A 3 0.0 0.0 -0.3 0.3 0.0 -0.3 -0.2 0.6 0.0 0.3 -0.5 0.0
4 0.4 1.6 -0.1 -0.7 0.1 6.5 0.3 -0.1 -7.1 0.8 0.0 0.0
= 5 0.0 -0.3 0.0 0.5 0.2 0.1 -0.2 1.0 0.0 -0.4 -0.3 0.2
- 6 -0.2 -0.4 -0.1 0.4 -0.5 -1.3 -1.1 -0.7 0.0 0.8 -0.2 -0.2
7+ 7 -0.3 -0.1 -0.2 0.3 -0.7 -2.4 0.0 -0.5 0.0 0.2 -0.1 -0.1
4y 8 0.3 0.7 -0.1 0.0 -0.1 -0.8 -0.4 0.5 0.0 1.5 -0.3 0.0
9 0.1 0.6 -0.1 0.2 -0.5 3.2 0.1 -1.0 0.0 -1.0 0.4 -0.1
% 10 0.5 0.2 0.0 0.2 -0.9 1.1 0.4 -0.1 0.0 0.1 7.0 0.5
11 -0.5 -1.4 -0.1 -0.4 0.1 0.3 -0.2 0.1 0.0 -0.9 0.0 -0.2
12 -0.2 -0.4 0.0 0.0 -1.9 -1.6 -0.7 0.4 0.0 0.0 -0.1 -0.1
X Rk 22 41 -1.6 -4.0 -0.3 5.4 -5.0 0.1 0.2 1.2 1.8 -1.9 1.2 -1.1
i 2 -1.0 -2.4 -0.2 5.5 -4.8 4.4 -0.5 0.5 1.5 -1.5 0.6 -0.9
i 3 -1.2 -2.7 0.3 -4.3 —4.1 -0.7 -0.5 0.7 1.5 -1.9 0.1 -1.1
_ 4 -0.8 -0.6 0.1 -4.3 -4.5 3.2 -0.4 0.5 -1.2 -1.6 0.0 -1.1
7] 5 -0.8 -1.2 0.0 -0.1 -4.3 2.7 -0.7 1.2 -1.2 2.6 -0.4 -0.8
H 6 -0.7 -0.2 -0.4 1.3 -3.6 1.8 -1.6 0.1 -1.2 -1.4 -0.7 -0.8
T+ 7 -0.5 0.3 -0.7 2.2 -3.3 3.0 -1.8 -1.0 -1.2 -0.8 -1.0 -0.7
- 8 -0.5 -0.4 -0.8 2.6 -2.8 4.9 2.3 0.0 -1.2 -0.9 -0.7 -0.6
7 9 -0.7 -0.7 -1.0 3.3 -3.4 4.5 -2.4 -1.1 -1.2 -0.7 -0.7 -1.0
R 10 0.4 1.9 -1.0 3.3 -3.7 4.1 -1.8 -0.9 -1.2 -0.5 6.1 -0.4
11 0.3 1.5 -1.2 2.5 -3.8 4.7 -1.6 -0.6 -1.2 -0.3 6.6 -0.3
% 12 0.2 1.0 -1.0 2.0 5.2 3.5 -1.5 0.4 -1.2 -0.1 6.2 -0.2
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SRR 1 74E=100

7 — - E—
IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | i (& lwel % | & | & | % | % | a6
v Ak 10,000 2,517 2,272 622 313 456 420 1,329 307 1,173 591 9,590
R 18 Y 100.8 101.6 100.1  104.3 98.6 102.7 102.6 99.8 101.0 98.8 100.5 100.3
19 101.4  101.7 100.7 109.0 98.2 106.4 103.6 99.7 101.7 97.3 102.9 101.0
20 102.6  104.1 100.5 113.2 97.2 108.7 102.5 101.8 102.9 97.8 102.3 102.2
21 101.0  103.1 99.7 116.6 95.8 103.5 100.9 96.8  104.2 95.2 101.6  100.9
22 100.1  102.3 97.0 118.5 90.9 101.1  100.2 97.0 93.6 93.7 103.1 99.8

8
Rk 22 1 99.9 101.6 99.4 117.2 91.0 97.1 101.3 96.6 104.4 92.7 101.7 99.9
2 99.9 101.7 99.2 117.6 91.7 97.6  100.8 96.8 104.4 92.5 101.6 99.9
3 100.2  102.2 97.2 1179 92.5 98.5 100.8 97.1 104.4 92.7 101.8  100.0
4 100.4  103.0 97.3 117.6 93.8 104.7 101.3 97.1 90.0 93.5 102.2  100.0
5 100.4  102.7 97.7  118.7 91.6 104.6  100.2 97.9 90.0 93.2 101.4  100.0
5 6 99.9 101.7 96.6 118.5 90.6 104.0  100.0 97.4 90.0 93.9 101.8 99.8
H 7 99.7 101.9 96.5 118.7 90.2  100.7  100.1 96.9 90.0 94.1 101.5 99.7
8 100.1  102.3 96.1 119.1 90.3  100.7 99.6 97.4 90.0 95.7  101.7 99.8
9 100.2  103.6 96.2  119.3 89.5 102.1 99.5 96.7 90.0 94.6  101.0 99.7
10 100.5 103.4 96.1 119.0 90.4 101.6 99.2 96.7 90.0 94.5 107.6  100.1
11 100.0  102.2 96.1 119.2 89.4 101.5 99.6 96.5 90.0 93.6 107.4 99.8
12 99.7 101.4 95.2  119.0 90.1 100.6 99.8 96.6 90.0 93.7 107.3 99.6
SRR 19 4 0.6 0.1 0.6 4.5 -0.4 3.6 1.0 -0.1 0.7 -1.5 2.4 0.7
% 20 1.2 2.4 -0.2 3.9 -1.0 2.2 -1.1 2.1 1.2 0.5 -0.6 1.2
21 -1.5 -1.0 -0.8 3.0 -1.5 -4.8 -1.6 -4.9 1.2 2.7 -0.7 -1.3
Al 22 -0.9 -0.8 2.7 1.6 -5.0 2.3 -0.7 0.2 -10.1 -1.5 1.5 -1.1
& Rk 22 1 -0.1 1.1 -0.3 0.4 -0.9 5.2 1.4 0.0 0.0 -1.4 0.2 -0.4
2 0.0 0.1 -0.3 0.3 0.7 0.5 -0.5 0.2 0.0 -0.2 -0.1 0.0
A 3 0.3 0.5 -2.0 0.3 0.9 0.9 0.0 0.3 0.0 0.3 0.2 0.1
4 0.2 0.8 0.2 -0.3 1.5 6.3 0.5 -0.1 -13.8 0.8 0.4 0.0
= 5 0.0 -0.3 0.4 0.9 -2.4 -0.1 -1.1 0.9 0.0 -0.3 -0.7 0.0
- 6 -0.5 -1.0 -1.2 -0.1 -1.1 -0.6 -0.1 -0.6 0.0 0.7 0.3 -0.2
7+ 7 -0.2 0.2 0.0 0.1 -0.4 -3.1 0.1 -0.5 0.0 0.3 -0.3 -0.1
4y 8 0.4 0.4 -0.4 0.4 0.2 0.0 -0.5 0.5 0.0 1.6 0.2 0.1
9 0.1 1.2 0.1 0.2 -0.9 1.4 -0.2 -0.8 0.0 -1.2 -0.7 -0.1
% 10 0.3 -0.2 -0.1 -0.2 1.0 -0.5 -0.2 0.1 0.0 -0.1 6.5 0.4
11 -0.5 -1.2 -0.1 0.1 -1.1 0.0 0.4 -0.2 0.0 -1.0 -0.1 -0.3
12 -0.3 -0.7 -0.9 -0.1 0.8 -0.9 0.2 0.1 0.0 0.1 -0.1 -0.1
X Rk 22 41 -1.9 4.2 -0.9 2.2 -8.2 6.3 -0.3 0.2 1.2 -2.6 -0.1 -1.5
i 2 -1.6 -3.4 -1.1 1.9 6.8 -4.7 -0.4 0.7 0.9 2.1 -0.2 -1.2
i 3 -1.4 2.2 -3.1 2.3 6.2 -6.8 -0.5 0.4 0.9 2.7 0.4 -1.3
_ 4 -1.2 -0.2 -2.9 -3.3 -4.9 0.3 0.1 0.7 -13.8 -1.9 1.0 -1.4
7] 5 -1.2 -1.0 -2.7 0.7 6.4 -0.7 -1.1 1.4 -13.8 2.6 0.4 -1.4
H 6 -1.1 -1.1 2.6 1.3 -5.6 -1.6 -0.6 0.2 -13.8 -1.6 0.3 -1.2
T+ 7 -0.8 -0.2 -2.7 1.9 5.4 0.5 -0.8 -0.3 -13.8 -0.9 -0.4 -0.9
- 8 -1.1 2.1 -3.0 2.7 -3.9 2.1 -1.5 0.1 -13.8 -1.0 0.2 -0.8
7 9 -0.7 0.6 -2.9 3.0 —4.6 -1.9 -1.3 -0.2 -13.8 -1.0 -0.8 -1.1
R 10 0.1 2.3 -3.1 2.7 -3.4 -4.0 -1.1 -0.3 -13.8 -0.7 5.7 -0.6
11 0.0 1.6 -3.0 2.5 -2.9 2.2 -1.0 -0.2 -13.8 -0.5 5.7 -0.6
% 12 -0.3 0.9 -4.5 2.0 -1.8 -1.8 -0.1 0.0 -13.8 -0.3 5.7 -0.7
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IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | (& lwel % | & | & | % | & | a6
v Ak 10,000 2,548 2,154 601 354 476 424 1,302 421 1,137 582 9,606
R 18 Y 100.6  101.1 99.6 102.8 106.8 99.2 102.9 100.2  100.7 99.1 99.9 100.2
19 100.7  101.9 99.2 103.9 106.7 98.8 104.3 100.4 101.4 97.4 99.8 100.3
20 102.2  105.0 98.3 113.7 103.3 100.2 103.8 102.7 102.9 97.2 99.7 101.8
21 100.8  104.6 97.8 109.9 101.3 101.8 102.9 97.5 104.9 95.0 99.4 100.6
22 100.1  105.0 96.9 110.0 101.1 99.5 102.2 98.5 90.9 93.9 101.4 99.4

8
Rk 22 1 100.3  104.4 97.6  108.3 99.9 100.0 102.3 97.8  105.3 92.8 99.2 99.7
2 100.4  105.0 97.5 109.2 98.1 100.8 102.0 98.2 105.3 92.6 98.6 99.8
3 100.5  104.3 97.3 109.7 103.0 99.1 101.6 98.3 105.3 92.9 99.9 99.8
4 100.2  105.6 97.2 109.3 102.7 101.6 103.1 98.6 86.1 93.6  100.1 99.2
5 99.9 104.2 97.1 109.9 102.3 102.4 102.0 99.4 86.1 93.3 99.8 99.2
5 6 99.7 103.6 97.0 110.0 102.8 101.2 102.3 98.8 86.1 94.0 99.8 99.3
H 7 99.5 103.1 97.0 110.2 102.2 98.0 102.6 98.8 86.1 94.4 99.7 99.1
8 100.4  106.3 96.3 110.8 101.9 98.0 102.6 99.0 86.1 95.7 99.6 99.3
9 100.3  107.1 96.4 111.0 101.2 98.1 102.5 98.2 86.1 94.8 99.1 99.2
10 100.4  106.0 96.3 110.9 99.5 98.1 102.1 98.1 86.1 94.9 106.9 99.3
11 100.1  105.2 96.3 110.4 100.4 98.5 102.1 98.0 86.1 94.1 107.0 99.2
12 100.0  105.0 96.4 110.2 99.5 98.7 101.7 98.4 86.1 94.1 106.8 99.2
SRR 19 4 0.1 0.8 -0.4 1.1 -0.1 -0.4 1.4 0.2 0.7 -1.7 -0.1 0.1
% 20 1.5 3.0 -0.9 9.4 -3.2 1.4 -0.5 2.3 1.5 -0.2 -0.1 1.5
21 -1.3 -0.4 -0.5 -3.3 -1.9 1.6 -0.9 -5.0 1.9 2.3 -0.3 -1.2
Al 22 -0.7 0.4 -1.0 0.1 -0.2 2.3 -0.6 1.0 -13.3 -1.1 2.0 -1.2
& Rk 22 1 0.2 2.0 0.0 0.1 -0.6 —4.4 1.0 -0.3 0.0 -1.3 0.2 -0.5
2 0.1 0.5 -0.2 0.8 -1.8 0.8 -0.2 0.4 0.0 -0.2 -0.6 0.1
A 3 0.1 -0.6 -0.1 0.5 5.0 -1.7 -0.4 0.1 0.0 0.3 1.4 0.0
4 -0.2 1.2 -0.1 -0.4 -0.3 2.6 1.4 0.2 -18.2 0.8 0.2 -0.6
= 5 -0.3 -1.3 -0.1 0.5 -0.4 0.8 -1.1 0.8 0.0 -0.4 -0.3 0.0
- 6 -0.2 -0.6 -0.1 0.1 0.4 -1.2 0.3 -0.5 0.0 0.8 0.0 0.1
7+ 7 -0.3 -0.5 0.0 0.2 -0.6 -3.2 0.3 0.0 0.0 0.4 -0.2 -0.2
4y 8 0.9 3.1 -0.7 0.6 -0.3 0.1 0.0 0.2 0.0 1.4 -0.1 0.2
9 0.0 0.7 0.1 0.2 -0.7 0.1 -0.1 -0.8 0.0 -0.9 -0.5 -0.1
% 10 0.0 -1.1 -0.1 -0.2 -1.8 -0.1 -0.3 -0.1 0.0 0.1 7.9 0.2
11 -0.3 -0.7 0.0 -0.4 1.0 0.4 0.0 -0.1 0.0 -0.9 0.0 -0.2
12 -0.1 -0.2 0.1 -0.2 -0.9 0.2 -0.4 0.3 0.0 0.0 -0.2 0.0
X Rk 22 41 -1.1 2.6 -0.1 5.5 2.3 1.4 -1.0 1.5 1.9 -1.9 -0.4 -1.0
i 2 -0.4 -0.6 -0.4 -4.5 -4.9 6.2 -0.9 1.8 1.6 -1.4 -1.2 -0.6
i 3 -0.6 -1.0 -0.7 -3.1 0.5 -1.1 -1.3 1.4 1.6 2.0 0.1 -1.1
_ 4 -1.0 0.6 -1.1 -3.6 0.7 -1.3 -0.1 1.6 -18.2 -1.6 0.8 -1.8
7] 5 -1.5 -1.4 -1.3 0.5 0.6 -1.9 -1.0 2.1 -18.2 2.6 0.2 -1.7
H 6 -1.2 -1.1 -0.5 1.6 2.4 -3.3 -0.7 1.3 -18.2 -1.4 0.4 -1.3
T+ 7 -0.9 -0.9 -0.3 2.2 1.7 -2.7 0.0 1.0 -18.2 -0.5 0.1 -1.2
- 8 -0.5 0.9 -1.0 3.1 2.0 -0.9 -0.7 0.6 -18.2 -0.8 0.6 -1.1
7 9 -0.7 2.1 -1.8 3.6 -0.2 -3.5 -0.8 -0.1 -18.2 -0.6 -0.2 -1.5
R 10 -0.2 3.2 -1.8 3.3 -1.4 -7.1 -0.8 -0.1 -18.2 -0.3 7.6 -1.2
11 0.0 3.2 -1.6 2.5 -0.2 6.2 -0.7 0.3 -18.2 -0.1 7.9 -1.0
% 12 -0.1 2.5 -1.2 1.8 -1.0 -5.7 0.4 0.3 -18.2 0.1 7.8 -1.0
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SRR 1 74E=100

7 — - E—
IH H = * ot ZE | mk |k 5 # # A %
Ry | m| o@® | @ # L | <H
& 5 x| Bl k| E | @ wo| " | R
& |l os | e | (& lwel % | & | & | % | % | a6
v Ak 10,000 2,494 1,865 706 375 399 456 1,674 291 1,160 580 9,569
R 18 Y 100.0  100.4 99.4 104.0 95.7 99.2  100.1 99.9 100.8 98.7 101.2 99.8
19 99.9  100.2 99.4 105.4 94.2 100.4 101.2 99.9 101.5 96.6 102.2 99.8
20 101.7 103.1 100.1  112.9 91.1 103.0 100.5 102.3 103.6 96.2 102.3 101.5
21 99.6 102.5 100.5 105.7 89.6 101.4 99.3 95.6  106.1 93.8 102.5 99.6
22 99.1 103.2 99.1 107.0 87.2 98.9 98.8 96.0 97.4 92.5 102.9 98.5

8
Rk 22 1 99.3 103.4 101.1 104.3 86.6 99.3 99.5 95.3  106.7 91.5 101.9 98.9
2 99.3 102.6 101.0 105.3 88.8  100.9 98.4 95.5 106.7 91.2  101.7 98.9
3 99.2 102.5 100.6 105.9 88.2 98.7 98.5 96.2  106.7 91.2 101.1 98.8
4 98.9 102.5 99.3 105.8 87.7 101.8 98.8 96.3 94.3 92.4 101.0 98.4
5 99.2  103.1 99.2 107.6 87.1 102.1 98.9 97.1 94.3 92.0 100.8 98.6
5 6 99.2  103.2 99.1 107.8 87.4 101.1 98.5 96.8 94.3 92.8 101.0 98.7
H 7 99.0 103.0 99.1 108.1 86.9 98.2 98.6 96.3 94.3 92.7 100.9 98.4
8 99.4 104.1 98.8  108.6 86.7 98.2 98.7 96.3 94.3 94.1 101.1 98.5
9 99.2  104.2 98.6  108.9 86.0 97.5 98.9 95.7 94.3 93.4 101.2 98.2
10 99.5 104.9 97.5 108.1 86.5 97.2 98.8 95.5 94.3 93.6 108.1 98.4
11 98.8 103.1 97.4 106.9 86.5 96.3 99.0 95.4 94.3 92.7 108.2 98.0
12 98.3 101.3 97.1 107.1 87.4 96.0 98.4 95.6 94.3 92.5 108.1 97.9
SRR 19 4 -0.1 -0.2 0.0 1.3 -1.6 1.2 1.1 0.0 0.7 2.1 1.0 0.0
% 20 1.8 2.9 0.7 7.1 -3.3 2.6 -0.7 2.4 2.1 -0.4 0.1 1.7
21 2.1 -0.6 0.4 6.4 -1.6 -1.5 -1.2 -6.6 2.4 2.5 0.2 -1.9
Al 22 -0.5 0.7 -1.4 1.3 -2.8 -2.4 -0.6 0.4 -8.2 -1.4 0.4 -1.2
& Rk 22 1 0.4 2.8 0.3 0.4 2.5 —4.1 0.3 -0.2 0.0 -1.2 0.2 -0.3
2 -0.1 -0.8 -0.1 0.9 2.5 1.6 -1.0 0.2 0.0 -0.3 -0.1 0.0
A 3 -0.1 -0.1 -0.4 0.6 -0.7 2.2 0.1 0.7 0.0 0.0 -0.6 -0.1
4 -0.3 0.1 -1.2 -0.1 -0.5 3.2 0.2 0.1 -11.6 1.3 -0.2 -0.4
= 5 0.3 0.6 -0.1 1.7 -0.7 0.3 0.1 0.8 0.0 -0.4 -0.1 0.2
- 6 0.0 0.1 -0.1 0.3 0.4 -1.0 -0.4 -0.3 0.0 0.9 0.2 0.1
7+ 7 -0.3 -0.2 0.0 0.3 -0.6 -2.8 0.1 -0.5 0.0 0.0 -0.1 -0.3
4y 8 0.4 1.0 -0.3 0.5 -0.3 0.0 0.1 0.0 0.0 1.5 0.2 0.2
9 -0.2 0.1 -0.2 0.2 -0.7 -0.8 0.2 -0.6 0.0 -0.8 0.1 -0.3
% 10 0.3 0.6 -1.1 -0.7 0.6 -0.2 -0.1 -0.2 0.0 0.2 6.9 0.2
11 -0.7 -1.7 -0.1 -1.0 0.0 -1.0 0.2 -0.1 0.0 -0.9 0.1 -0.4
12 -0.5 -1.7 -0.3 0.1 1.0 -0.4 -0.6 0.3 0.0 -0.3 -0.1 -0.1
X Rk 22 41 -0.8 -1.4 0.7 -5.8 -5.0 2.2 0.1 1.2 2.4 2.1 -0.2 -0.9
i 2 -0.6 -1.6 0.6 -5.1 -2.0 6.8 -0.8 0.8 2.1 -1.8 -0.5 -0.7
i 3 -0.7 -1.1 0.2 -3.8 -1.7 -1.2 -0.5 1.2 2.1 2.3 -1.4 -1.0
_ 4 -1.1 -0.5 -1.0 -2.9 -2.4 -1.8 -0.1 1.2 -11.6 2.0 -1.8 -1.6
7] 5 -0.7 0.2 -1.1 2.9 -2.7 2.6 0.0 1.3 -11.6 -3.0 -1.7 -1.3
H 6 -0.3 1.4 -1.2 4.3 -1.8 -3.0 -0.3 0.6 -11.6 -1.7 -1.8 -1.0
T+ 7 -0.2 1.5 -1.3 4.6 -2.9 -0.8 -1.0 0.1 -11.6 -0.8 2.2 -1.0
- 8 -0.3 0.6 -1.5 5.6 -3.2 1.2 -0.9 0.3 -11.6 -0.8 -1.3 -0.8
7 9 -0.3 2.2 -1.7 5.6 -3.5 -5.8 -0.7 -0.6 -11.6 -0.7 -1.6 -1.4
R 10 0.0 3.7 -3.3 4.7 -3.3 =7.5 -0.8 -0.5 -11.6 -0.6 5.1 -1.3
11 -0.2 2.9 -3.5 3.5 -3.0 -7.9 -0.8 -0.3 -11.6 -0.2 6.2 -1.4
% 12 -0.6 0.7 -3.6 3.0 -1.6 -7.3 -0.8 0.1 -11.6 -0.1 6.3 -1.3
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